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Instruction :  All questions are compulsory.

1. (A) Explain any four common conflicts of our Society. 14
OR

Describe the common pressures in our society.

(B) Fill in the blanks : (any four) 4
(i)  There can be two of frustration — inner and outer. (Standards; sources)
(i1)  Frustration is produced due to an in the path of goal attainment.

(obstacle; observation)

(ii1)) The death of a relative is a type of . (failure; loss)

(iv) Conflicts can be divided into _ types on the basis of the nature of
alternatives. (five; three)

(v) A person would like to move away from an alternative witha  value.

(reward; punishment)
(vi) Inan conflict, the person is faced with two unattractive alternatives.

(approach-avoidance; avoidance-avoidance)

2. (A) Discuss the characteristics of the individual as a factor affecting the severity of
stress. 14

OR

Explain the statement — “Adaptation to stress is expensive.”

(B) Write whether the following statements are true or false : (any four) 4
(1)  The stress pattern of a child is different from that of an adult.

(1)) The stress pattern of an individual remains the same at different points in
time.
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(ii1) Stress patterns are never unconscious.

(iv) The degree of disequilibrium in a person increases during more severe
stress.

(v) A person experiences greater stress in an unfamiliar situation than in a
familiar one.

(vi) A situation that can cause harm is known as a threat.

Discuss the reasons for marriage, and explain why some people never marry. 14
OR

Discuss the factors affecting mate selection.

Write whether the following statements are true or false (any three) : 3
(i)  The difference between female and male sex roles is increasing.
(i1)) Today, more permissive attitudes toward sex are seen in society.

(iii) The courtship period provides opportunities for the satisfaction of
psychological and sexual needs.

(iv) Serious problems of adjustment can arise even in premarital relationships.

(v) Romantic love includes elements of both-affection and physical attraction.

Clarify the role of sexual adjustment in good marital adjustment. 14
OR

Explain how roles and mutual accommodation affect marital adjustment.

Write whether the following statements are true or false (any three) : 3

(i) In a colleague marriage, the couple gives importance to one another’s
achievement at work.

(i1)) In a fun marriage, the arrival of a child holds great importance.

(i11)) ‘Nestling marriage’ is another name for ‘vitalized companionship
marriage’.

(iv) Middle class marriages are happier than those of the lower class.

(v)  The personality factors of the couple can have an effect on their marital
adjustment.



